Interleaved 2 of 5 encoder test.
Test 1: one simple barcode with default parameters:
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input code 54654681: |A] 54654681

Test 2: one simple barcode with default parameter:
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input code 1234567895: |A 1234567895

Test 3: one simple barcode with check digit automatically added:
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input code 454473: |A] 04544739

Test 4: a second simple barcode with check digit automatically added:
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input code 74223: |A 742238

Test 5: a symbol with native check digits:
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input code 121891259: |A| 0121891259
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input string ”747867239”: |A 0747867239 A

Test 6: bearer bars please:

Test 7: bearer bars all around the symbol:
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input code 986790868: |A| 0986790868 A

Test 8: bearer bars all around the symbol (with string costructor):
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input string 7986790868 : |A| 0986790868 Al
That’s all folks!




